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A HEHZCIARA
ZE: HEL
e HEgae (49 &2l)
S - BB CRI(SIH) - NISAY - BAS 01l bt s Hlm=2
HEAZ2IAIR A 407,264 0 407,264
HE&2E] 390,235 0 390,235
HE&22] 390,235 0 390,235
22| 170,620 0 170,620
101 @124 d| 20,000 0 20,000
M IIHZ22NSES 20,000 0 20,000
NHEH 222 LAAIEIEL
20,000,000& 20,000
201 LBt2A| 121,620 121,620
01 At 22l 80,500 80,500
Nl YR oA
8,000& x2H *502] 800
DAIRY 29 278 £ 7Y
70,0003 123 840
1Y 60,0002 *1H *x365! 21,900
1=2| 60,0003 *1H+116! 6,960
NHEH SH 222 M
20,000,000& 20,000
NEILRE 100,000& x2CH*12& 2,400
NE22XE AX=(erd BHl)
550,000 «2J1 A+ 12& 13,200
DY == 6,000,000& 6,000
DHES X422 I dxts
350, 000& *x2JH A% 123 8,400
02 S=2gl 11,120 0 11,120
NEIIL2 200,000& = 12& 2,400
Na=Ee2 20,0002+ 12& 240
1NSae2 100,000 x12& 1,200
NHEARZ RES 25
100,000& «12& 1,200
DHEM 422 LU RFUI
35,0002 x4CH+12& 1,680
DHES 422 =D S |RFHI
20,0003 *123|*10CH 2,400
DHEY 422 AU RAE+H|
500,000 *4CH 2,000
03 SHAL2 I 30,000 0 30,000
DIHEASH A
30,000,000 12l 30,000
202 04| 9,000 9,000
01 =W GBI 9,000 9,000
DHEA 22| GRFN =20
50,0003 «3H 60 9,000
401 AIEHIZ 20| 20,000 20,000
01 AlEHI 20,000 20,000
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HEE2CIMNRA

I8 HESBL
ol HEag2 (e &)
SA - BB SRI(B) - MRAR - BAS Ofl st e HIDEY
NHEg2A2| M2MEgD L 10 41
20,000,0002 * 194 2 20,000
LS 209,615 0 209,615
101 e124d| 155,475 155,475
M4 JIRHNZZ2ASE s 185,475 155,475
NHEYH x35t7 22l A=Y
150,000 *10E * 1002 150,000
NHEYH 317 22l ARY AHEE
1,500,000 1,500
NHEH =35t7 22l A2 NELE
3,975,000& 3,975
201 24| 18,140 18,140
01 At 228l 18,140 18,140
NIE ADEA 0jAl
8,000 x2& *402] 640
N33 HAZE 7Y
9,600,000 9,600
g shMD| =HHIS &
500,000 %12 500
NHEY 29 2857¢
200,000« 12«12 2,400
NHEH 29X gais 2Hl
2,500,000& *22] 5,000
202 Od| 6,000 6.000
01 =LHOHI 6,000 6,000
NXE YRFX WA
50,0002 x2& *602] 6,000
206 =4l 30,000 30,000
01 MZHl 30,000 30,000
NHEE 248 2R & Mg 7Y
10,000,000 *37H 2 30,000
He 10,000 10,000
401 Al HIKL R 0HbI 10,000 0 10,000
01 AlZH] 10,000 0 10,000
NHEH JIBtxy 10,000,000 10,000
HY2AIH(HEE 2R L) 17,029 0 17,029
=0l 17,029 0 17,029
JI2ZH(HE L2 AR L) 17,029 0 17,029
101 @124H| 11,829 0 11,829
01 2= 11,829 0 11,829
NARIIZR+E(62)
12, 213 <2 * 123 «40AI 2t 11,829
201 =g 600 600
01 AlR2teltl 600 600
NEA2S ARl 200,000 <32 600




SA HEL2AARA
N dY2IIH(HEL2ALIARL)
=9l Jl=3l EECRED
SA - BB SRI(B) - MRAR - BAS Ofl st e HIDEY
202 OdH| 1,600 1,600
01 =LHOIHI 1,600 1,600
NEA2E =Uol 50,0002 x4 H +83] 1,600
203 HE=8| 3,000 3,000
M EASSLR=AH| 3,000 3,000
1)1521015t 250,000 * 12 3,000




